UNIT 6: GEOMETRY REVIEW SHEET

Part 1: Simplifying radicals.
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Part 2: Solving radical equations.
5.3—x= 6.V10b + 6 7\/n+5-\/5n—11
pe :—?3— chac\’-z U b *rb) (19) ek Qh +5) (bn \\)
“r ‘3 3 [_25' \obyk * 51; “—5_(23)—% mes s SN
Y& B 52 b ok LTI e i
(’Y’?_%Q e AORESO (56 b Ve~ 0
. o= 3\ T R e
8. -2V2r+5=6 v b =l \ ko e
.-N o AN g H™- N "—H’%Z: oY -
Lm) =3) sl i i (a = [ao-n
) 2= etk ./ T
QS = 9 25 Llaram=b -2i3cL fAf@v

Part 3: Pythagorean Th T2l 2@z % kzb
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9. The area of a square is 4%in2. Find the length of its diagonal. Leave your

answer as a simplified radical. 2
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10. De‘rermlne if ’fhe fo!lowmg sides lengths create a ngh’r triangle: 13, 38, 35
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Part 4; Distance and Midpoint

Find 1he distance and midpoint between eac h pair of points.
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1a A(35) cmd B(8.5) 13. A(]O -2) and B(-6,3)
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14. M is the midpoint of AB If Ais located af (6,10) and M is Tocafed at (5,7},
find the Coordmo’res of B. s
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Part 5: Geometry

15. Find the perimeter of a Tridngle if the vertices are located at A(2,1) B(6,-3)

and C(1,-7).
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16. The volume of a cylinder is 1526.04 in3. If the height is éin, find the length of
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17. Find the volume of a sphere if the circumference around the sphere is 31.4
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18. If you double the radius of a sphere, how many times greater is the new
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Part 6 Transformations:

19. Plot points A(1,2), B(1.4), C(4. 4).
D(3, 2). Rotate 2700 clockwise.
Remember to label new shape with
prime.
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21. Plot points A( -4, 2), B (-2.,5),
C (-2, 3). Reflex across the x-axis.
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20. Plot points A(1,1), B(3,5), C(4.1).
Translate 2 left and 4 down

22. Plot points A(-2,1), B(0,1), C(1, 2),
D(2,0). Dilate by a factor of 3
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Complete the following angle puzzle.
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